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Graphing Linear Functions
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Final corrections due:

Identify the slope and intercepts of each line. Then NEATLY sketch the graph. Write each slope as an integer or reduced
fraction. Do NOT use decimals. Write each intercept in the form (x,0) or (0,y). If there is no intercept, write NONE.

1] 3y +12=3(x+y) 2] 2(y+5)+2x=2(x+2)
& &
el el
= =
4 4
E E
Slope = Slope =
y-intercept = B i | y-intercept = AEEEEENEEEER AN
-2 -3
x-intercept = 3 X-intercept = 3
-4 -4
_.% _%
3] 5x+2y = —4 4] 12x — 8y = —24
3 &
= =
pl 4
E
Slope = Slope =
y-intercept = - T, & | y-intercept = jESEEEPAREEERS
-2
-2
x-intercept = 3 X-intercept = i
4l -
5] 3y—x—-5=0 6] 3—x=3(+4)
3 3
5 5
4 4
3 3
Slope = Slope =
y-intercept = R T & | y-intercept = AEEEEEPAREER AN
P -2
x-intercept = 3 X-intercept = 3
.4 -4
: )




71 5y+7=x+3+y

8] 5y —x=2y+12—-3x

] ;
5 5
4 4
3 3
Slope = Slope =
y-intercept = R B ® | y-intercept = i B T
-3 -2
x-intercept = 3 X-intercept = 3
-4 -4
& =
9] 2(x+6) =32y —4) 10] 10 =3y =2(x + 2)
& 4
6} éf
= 5
4 4
3 3
Slope = Slope =
y-intercept = R _1 ™ | y-intercept = R p T
-2 -2
X-intercept = 3 X-intercept = 3
-4 -4
E E
BONUS] Sy =2x -2 BONUS] 2y —;=3-x
] ;
5 5
4 4
3 3
Slope = Slope =
y-intercept = B B | y-intercept = = _1 =
2 -3
X-intercept = 3 X-intercept = 3
-4 -4




